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Answer five question in all. Short answer type Question No. 1
carrying 40 marks is compulsory. Answer one question carrying
15 marks from each Unit.

TEEEF SEwE B NP s
State the namure of Business Economics.
ot & faw w2 20 |

What is the Law of Demand?

T oS e #® ooRwiE #ite
Define elasticity of demand.

adofte s = 22

What is variable cost?

fer vy = 22
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. What is expansion path?

(vi) = FATYSR & qR9fid Sy
Define Duopoly.

(vii) IR ¥ W ¥ A 27
What do you mean by Murket?

(vit) THYSR i fFAysaet & avfr S
Describe the features of monopoly.

) IEE T9gd ¥ WY F TEF 20
What do you understand by real wage?

x) foEl § 79 fagm & Avsast & 989y § 9o
Brefly describe the characteristics of the Recardian theory of rent.

' Unit-1

.mmmmﬁﬁmmlmﬁz%m%?

Explain the Law of Diminishing Marginal utility. What are its exceptions?
Or

. 39 ad & e PN 3 W s & S ek s &) S & AR

At = 22
Explain the factors on which elasticity of demand depends. What are the
various degrees of elasticity.

Unit-11

. I B W @ g fuf fafew

Write a detatled note on the 'Production Function'. Or

.99 # r=RE F94 o9 FEwd @ aviy. e

Describe the internal economies and diseconomies of the scale.
Unit-I11

.@mmmﬁmmﬁlmﬁaﬁmmmw

ffRe & o &7

. Dafferentiate between perfect competition and monopoly. How is price

determined under monopoly? Or

. TSR g et ok @ # e @i

Discuss the main characteristics and types of oligopoly.
Unit-IV

L EN P e TRl R @ SRS s S

Explain critically the liquidity preferenec theory of interest. Or

. % e Rl = 9w faflee @ = B S 9 WSy § =

)
Name the various theories of profit and explain briefly any two of them.
®
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B. Com. (Part-I) Examination, 2014
Fifth Paper-(Business Statistics)
[Maximum Marks : 100
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Note:- Answer five question in all. Short answer type Question Ne. 1
carrying 40 marks is compulsory. Answer one gquestion carrying
15 marks from each Unit. ,

1. Prfofas &g vt & 3w d@ifwg- 4x10=40

Answer the following short answer questions-

0wt & oRdmet = osvh S
Dascribe the limitations of statistics.

@ T ¥ ARy IEEEl § O3 SN
Distinguish between a Census and a sample enquiry.

) ‘omgR gy ¥ 22
What is Frequency Polygon?

(v) U @ % 21 i & oiwm g 16.5 3 R 3 P
¥ ur ok ol & g @ @ o o e 154 T @
T ? TE WeEY ¥ SR W Rl § oy Peite S
The mean age of 21 students of a class is 16.5 years. One more
student is added to these students and mean age dropped to 16.4
yeass. Determine the age of the student added to the original
sample.

V) @Mﬁmm;s@m%wm 21 I|W
TR RS ¥4 27
Coefficient of variation of 4 series is 58 and its standard deviation
is 21.2. What is its arithmetic mean?

(vi) et famor § @ fds fowwe e +0.32, TR EEEW 6.3
T4 MEF 29.6 81 I9H TeoH TG TEE IW ST |
Karl Pearson's coefficient of skewness of a distribution is +0.32.
its standard deviation 1s 6.5 and the mean is 29.6. Find the mod2
.and median of the distribution. ,

(viiy =g W ¥ 39 T gERT 2?7 SE-nE e § we nes
F TR
What do you understand by probable error? State its importance
in. correlation analysis.
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(viii) §TF IGEHT UE G Johradl JOET R TS g feof

fafEw)

Write 4 note on tme reversal and factor rew.r:a! Tesls.

X XY W AT w39 #0559 3 TW -

—_— —_— g,
X=682 Y=99 =044 y=076

G,

Find regression equation of X on Y, when we Know -

o
—-=0.44,. y=0.76
c

(0 FEEYH H IwAEiE & W ¥ g s
Discuss the utility of interpolation in bref.
Unit-1
“wfor” ﬂuﬁwmiwgﬁmaﬁgm%mm

v @ R @ we B

Define "Classification”. Explain the purpose and methods of classifica-

" tion of data giving suitable example. Or
: aﬁaﬁ%ﬂwmwa@ﬁmﬁﬁﬂwm

§ 79l SeEe @ 21 39 F99 & gityr BT U 9RO & SIREs

W A ¥ AR 9l o =me 8 @ 9Re?

"Diagrams help us to visualise the whole meaning of a numerical complex

-at a single glance." Comment. What points should be taken into consid-

eration while presenting a table diagrammatically.
Unit-11

. FREA F T @ mi ek

The following is the wage-distribution in a.factory-

s wogh

('5.‘000) 5060 80-100 100-110° 1104120 1201130 130150 150-180 180-200

gl 50 127 140 240 176 135 20 3

(31 T IR Sihem Affs TR Iw AR

Find out the average annual wage through median.
(F) 9 I W @y w0 ¢ 3K 9@ Pew 5w T @ F 3 ae
WEO 120 I PR T W ¢ AT TR H 5% IR A %0
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120 @1 A TR T R § F 10% IAVEE HUT 4 Iqd He
¥9 3Hg & wam?

A fund is to be raised and it is decided that workers getting less
than Rs. 120 should contribute 5% of their wages and that those

getting more than Rs. 120 should contribute 10% of their wages.
What sum will be collected?

5. f=Eted wel ¥ oasd W feww e 3| Sl

a7 (dee ) g osE | 40 so 60 70 80 < 90

=fear F 9] 185 167 132 84 38 12

Find out B-owley's coefficient of Skewness from the following data-

Weight (in Ibs.) more than 0 SO & 0V D

No. of persons

185 167 132 8 R} 12
Unit-111 |

é.ﬁﬁmﬁixﬁmﬂ—mwmaﬁmaﬁﬁma

Wm1_234567-a'910

FO = | -2 7 -1 43 42 0 -4 43 #3 -2

Calculate Rank difference coefficient of correlation from the following

facts- . | Or
Serial No. T 2 3 4 5 6 71 8 9 10
Rank Difference 2 7 <1 £ £ 0 4 +3 43 2
7. 7= TS ¥ RRAR F1 aeyl gEeis §W &fwe
ELS IR gy e,
T aTaT Ll Le1E |
e 16 50 . 24 45
FI3T 18 30 24 25
e 20 5 15 8
= 10 ¢ 12 16
fafeg 10 10 14 12
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From the following data, find out Fisher's Ideal Index Numbers-

Commodities Base Year Current Year
Price Quantity Price Quantirty
Fooding 6 50 24 45
Clothing 18 30 24 25
Rent - .t 5 15 8
Fuel 10 6 12 16
Miscellaneous 10 10 ' 14 12
Unit-IV

8. frffae @@l ®, oYM % W % 60 § 5. 70 F T, Hegd
AT | a7 Fhedl H IO I9 AR

gl (%0) 40 ¥ FT 40-60 6C-80 80-100 100-120
=fgt 3 F= 1250 120 100 70 50
Form the foiiowing data, find by interpolation, the number of persons
earning wages between Rs. 60 and Rs. 70- : Or
Wages (Rs.) Below 40 4060 6080 80100  100-120
No. of Persons 250 120 100 0 50

9. & At F FA-FR ¥ dagw 27 FE-Ovh o fRvdww 53 § Tw o
F ww A R w vy e

What are the components of a time series? Bring out the significance of
moving averages in analysing a time series and point out its limitations.
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